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Number in expanded form  

5 tens and 3 ones make 53. 

In expanded form, we write : 

53 = 5 tens + 3 ones . 

Now, 5 tens = 50 and 3 ones = 3. 

So, 53 may also be written as : 53 = 50 + 

3 .  

1.Write each numeral in expanded form: 

64 = —— tens + —— ones = —— + —— 
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91 = —— tens + —— ones = —— + —— 

83 = —— tens + —— ones = —— + —— 

35 = —— tens + —— ones = —— + —— 

78 = —— tens + —— ones = —— + —— 

96 = —— tens + —— ones = —— + —— 

27 = —— tens + —— ones = —— + —— 

100 = —— tens + —— ones = —— + —— 

56 = —— tens + —— ones = —— + —— 

46 = —— tens + —— ones = —— + —— 

 

 

 

 


